SHEERBRLEATRELRAIVIHE BE—%E
SF6E7H218
TFERAN)THET)—F LR G5

14 241 3{ir
EEgE B 1A L
38Kkl 1% _IJ\ N _ BEF
G A—rh 1 KEM@mAF 1 KAEM@EAF 1
41kel EILUERE RN K H
& B 1 |xE=® 2
NE FA
44 kg
eft M oh 1
BKAFA BEE =N
48kgik —
i 3Rd=2 3 55 3
=& = 1&E iE BH
52kgik — —
il 3 R 3 KE It 3
na R LRy fEAE TEOEE
57kgih — -
WEES 3 =k 3 Bt eh 3
SEHIE g 8 EE X
62kgih — = —
A 3 = Fk 3 JKF g 3
68Kallh RA X RFRILAIILAE
& E% 3 | kEmE | 3
ek ReEH KZE [LiE
75keik —
Mk 3 KFE M@ 3
85kg#k
g A
110kg;
efit T 2
H BEZ A EAD w g
ZZA A ] _.%ﬁ =K
sk 3 KFh 2 K@ 1
I Seh 5 IR =8 750
228 “j(JI D % o ~ _;EWZ} 34 B t
AT 3 IR EA 2 i — b 2
HE OB TiE ABE
ZFC
* KEDEg 2 BEEH 1
14 241 3{ir
fth oo I ot
PR KE P it M3




